AnddepeHunposaHue
dbvHkumn v = f(kx + m)



YnpaxHeHue:  @ippizogsny

¥Cos x)' =v=sinx

BpluncanTb Npon3BoAHbIe, MCNONb3ya Npasuaa AnddepeHupoBaHma:
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[Ipon3BogHbIE OCHOBHbIX PYHKLNIA:

() =0
(x)' =1
(kx +m) =k

(x™) = nx"1
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(sinx)’ = cosx

(cosx) = —sinx




((Sx + 3)3)’ = . (5x+3)&15(5x + 3)2 (cos(7x —3))'= — sin(7x — 3)
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(kx+m) =k

(f(kx + m)) = kf "(kx + m)



((kx + m)")’ = kn(kx + m)™ 1 (sin(kx +m))" = k - cos(kx + m)

Y I (cos(kx + m))" = —k - sin(kx + m)
(kx+m) -  (kx +m)?2
(tg(kx +m))' = i
, I gllex +m))" = cos?(kx +m)
Vkx + =
( x+m) 2Vkx +m k
(ctg(kx +m)) = —

sin?(kx + m)



[puUMep: (ke +m)) = kf ' (kx +m)

HaliTn sHaueHna aprymenTa, yaosnetsopsatowpme ycnosuio f' (x) = g'(x), ecam:
f(x) = sin(2x — 3), g(x) = cos(2x — 3).

PeweHwue:
[

f'(x) = 2cos(2x — 3) 2x=3—Z+7tk,k€Z
"(x) = —2sin(2x—3 k
g ) (2x=3) x=15-=+— ke€Z
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[

cos(2x—3)#0 cos(2x—3)=0=>2x—3==-+nk,k€Z

2
—1=tg (2x — 3)

T
2x—3:—Z+nk,kEZ

OTBeT: x = 1,5—g+%k,kEZ.



[Tpumep:
HaiTn 3HaueHna aprymenTa, yaosnetsopsatoume ycnosuio f'(x) = g'(x), ecan:

f(x) 23x =10, g(x) 2V14 + 6x.
0/3: 3x —10 > 0, 14+ 6x >0

PeweHue: 3x > 10, 6x > —14
3 1 1
'(x) = x >3-, x> —2-
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’X — — X >3-
() V14 + 62 3

& 2V3x—10=V14+ 6x © 4(3x — 10) = 14 + 6x &
S12x—40=14+6x o 6x=54x=9

OTtseT: x = 9.



